Atkin's Physical Chemistry, 8e, p.705/self-test 20.3
	2θ (deg)
	θ
	sinθ
	sinθ/sin(6.05o)
	[sinθ/sin(6.05o)]2

	12.1
	6.05
	0.105396
	1
	1

	17.1
	8.55
	0.148672
	1.41060382
	2

	21
	10.5
	0.182236
	1.729050381
	3

	24.3
	12.15
	0.210472
	1.996955728
	4

	27.2
	13.6
	0.235142
	2.231028001
	5

	29.9
	14.95
	0.257976
	2.447676049
	6

	34.7
	17.35
	0.298208
	2.829396532
	8

	36.9
	18.45
	0.316477
	3.002732969
	9

	38.9
	19.45
	0.332984
	3.159352832
	10

	40.9
	20.45
	0.34939
	3.315010325
	11

	42.8
	21.4
	0.364877
	3.461950359
	12


